

# Re-appear GRADE SHEET of B.Pharma 2nd Semester Held in July 2020

		AP	HE and Pat	thophysiolo	gy-I	Pharm	aceutical P	hysical Che	mistry		Organic C	hemistry-I		P	harmaceut	ical Statistic	es			
	T	PHR-PL-121					PHR-l	PC-122		PHR-PC-123 PHR-PS-125						Total	Total Point	Grade Point		
Sr No.	Examination Roll No.	Credits -3					Cred	lits -3			Cred	its -3			Cred	lits -3		Registered	Secured	average
	Kon No.	Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured	Credit		
1	150400	D	3	4.00	12.00		N.A				N.A				N	ſ.A		3.00	12.00	4.00
2	150609		N	.A		В	B 3 7.00 21.00 C 3 5.00 15.00 N.A							6.00	36.00	6.00				
3	150744	N.A				N.A			N.A				A	3	9.00	27.00	3.00	27.00	9.00	
4	150747	N.A				N.A			N.A			В	3	7.00	21.00	3.00	21.00	7.00		

F grade course to be repeated



# Re-appear GRADE SHEET of B.Pharma 3rd Semester Held in July 2020

Sr No	Examination			cognosy-I PG-231		Organic chemistry II PHR-PC-232			Total	Total Point	Grade Point	Total Earned	Prev.Point	Cumm.	Cumm.	OGPA	Overall Performance	
Sr No	Roll No.	Grade Awarded	Cred Earned Credit	lits -4 Grade Point	Point Secured	Grade Awarded	Cred Earned Credit	lits -4 Grade Point	Point Secured	Registered Credit	Secured	average	Prev.Credit	Secured	Earned Credit	Point Secured	OGPA	Overall Performance
1	150035							1			CS					I		
2	150609	C	4	5.00	20.00	В	4	7.00	28.00	8.00	48.00	6.00	46.00	155.00	54.00	203.00	3.76	Scholastic Probation

F grade course to be repeated



### Re-appear GRADE SHEET of B.Pharma 4th Semester Held in July 2020

			Pharmace	ognosy-II			Bioche	mistary					
			PHR-F	PG-245			PHR-PC	C-243 (P)		Total	Total	Grade	
Sr No.	Examination Roll No.		Cred	its -2			Cred	its -2		Registere		Point	
	Kon No.	Grade Awarded	Grade Awarded Earned Credit Grade Point Point Secured		Point Secured	Grade Awarded	Earned Credit	Grade Point Point Secured		d Credit	Secured	average	
1	150049		N	.A		<b>B</b> +	2	8.00	16.00	2.00	16.00	8.00	
1			IN.	.A			2	8.00	16.00				
2	150400	C	2	5.00	10.00		N.A					5.00	
	150747	B+								2.00	16.00	8.00	
3			2	8.00	16.00		N						

F grade course to be repeated



### Re-appear GRADE SHEET of B.Pharma 5th Semester Held in July 2020

			Pharmaco	ognosy II	[	M	[edicinal	Chemistry	y-I		Pharmac	cology II				
Sr No.	Examination		PHR-F	PG-352			PHR-I	PC-353			PHR-I	PT-354		Total Registere	Total Point	Grade Point
Sr No.	Roll No.		Cred	lits -3			Cred	its -3			Cred	its -3		d Credit	Secured	average
		Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured			
1	150639	В	3	7.00	21.00	D	3	4.00	12.00	A	3	9.00	27.00	9.00	60.00	6.67
2	150744	A	3	9.00	27.00	N.A			N.A				3.00	27.00	9.00	

F grade course to be repeated



### Re-appear GRADE SHEET of B.Pharma 6th Semester Held in July 2020

			Biopharmo Pharmac	ceutics an okinetics		Chemi	istry of N	atural Pro	oducts		Pharmac	cology III		Total	Total	Grade
Sr No.	Examination Roll No.		PHR-I			PHR-PG-364						PL-365		Registere	Point	Point
	Roll No. Credits -3					Credits -3					Cred	its -3	d Credit	Secured	average	
		Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured			
1	150044	N.A				C+	3	6.00	18.00	N.A				3.00	18.00	6.00
2	150639	C+	3	6.00	18.00		N.A 3 7.00 21.00						6.00	39.00	6.50	

F grade course to be repeated



#### Re-appear GRADE SHEET of B.Pharma 7th Semester Held in July 2020

		Pharm	aceutical	Technolo	ogy - II	Pharmaceutical Management Medicinal Chemistry & Pharmaceutical Biotechnology Cheminformatics							Total	Total	Grade					
Sr No.	Examination Roll No.	PHR-PT-471				PHR-PT-473					PHR-PC-474				PHR-PT-475				Point	Point
110.	Credits -3				_	Credits -3					Credits -3				Credits -3				Secured	average
		Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured	Grade Awarded	Earned Credit	Grade Point	Point Secured			
1	150192	<b>B</b> +	3	8.00	24.00	<b>B</b> +	3	8.00	24.00	С	3	5.00	15.00	В	3	7.00	21.00	12.00	84.00	7.00

F grade course to be repeated



### Re-appear GRADE SHEET of B.Pharma 8th Semester Held in July 2020

Sr No.	Examination		PHR-I	eal Analysis-II PC-483 lits -3		Total Registered Credit	Total Point Secured	Grade Point average	
	Roll No.	Grade Awarded	Earned Credit Grade Point		Point Secured	Creuit			
1	150609	В	3	7.00	21.00	3.00	21.00	7.00	
2	150192	A	3	9.00	27.00	3.00	27.00	9.00	

F grade course to be repeated